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WEST BENGAL STATE UNIVERSITY 

B.A. Honours Part-III Examination, 2021  

PHILOSOPHY 
PAPER: PHIA-V 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণর্মান িনেদর্শ কের।  
Candidates should answer in their own words পরীkাথর্ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

Answer Question No. 1 and any two questions from the rest 
১নং pű এবং অন° �য-�কােনা dিট  pেűর উtর দাও 

1. Answer any four questions from the following within 150 words each: 
িনmিলিখত েয-েকােনা চারিট  pেűর উtর দাও pিতিট  ১৫০ শেbর মেধ°ঃ 

5×4 = 20

(a) State the definition of Buddhi as given in Tarkasaṁgraha. Explain the 
significance of the term ‘Vyavahara’ in the definition of ‘buddhi’.  
তকর্সংgহ অনুসাের বুিdর লkণ উেlখ কেরা। লkণমধ°s ‘ব°বহার’ শbিটর তাৎপযর্ ব°াখ°া কেরা। 

(b) Define and explain Kārya after Aṇṇaṁbhaṭṭa in Tarkasaṁgraha. 
অĒংভĄেক অনুসরণ কের তকর্সংgেহ pদt কােযর্র লkণ ব°াখ°া কেরা। 

(c) Determine the respective Indriya, Artha and Samnikarṣa in the following cases. 
(any two) 
িনmিলিখত েktgিলেত ব°বhত ইিndয়, অথর্, সিnকষর্gিলর উেlখ কেরা। (েয-েকােনা dিট) 
(i) Perception of happiness in the self 
 আtায় সুেখর pত°k 
(ii) Perception of cowhood of the cow 
 গrেত েগােtর pত°k 
(iii) Perception of the ground as characterized by the absence of the pot  
 ঘটাভাবিবিশŶ ɛতেলর pত°k 
(iv) Auditory perception of soundness. 
 শbেtর Ëাবণ pত°k। 

(d) What are the main characteristics of a Sat hetu? Give example. 
সৎ েহtর মুখ° �বিশŶ°gেলা িক িক ? উদাহরণ দাও। 

(e) What is the difference between Vaidika Vākya and Laukika Vākya? 
�বিদক বাক° ও েলৗিকক বােক°র মেধ° পাথর্ক° কেরা। 
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(f) Explain the meaning of the following line: 
“Tatparyānupapattiḥ Laḳṣaṇāvījam” 

‘‘তাৎপযর্°ানুপপিtঃ লkণাবীজম  ্’’ —  এই পংিkিটর অথর্ ব°াখ°া কেরা।  

(g) What is the locus of the quality of sound? How can one perceive a distant sound? 
শbgেণর আËয় িক ? দূরs শেbর িকভােব pত°k হয় ? 

(h) State the definition of Upamiti given by Aṇṇaṁbhaṭṭa in Tarkasaṁgraha. What is 
the Vyapāra of Upamiti? 

অĒংভĄ তকর্সংgেহ উপিমিতর েয লkণ িদেয়েছন তার উেlখ কেরা। উপিমিত jােনর ব°াপার িক ? 

(i) What are Viruddha and Vādhita hetvābhāṣa? Explain with example. 
িবrd এবং বািধত েহtাভাষা িক ? উদাহরণসহ ব°াখ°া কেরা। 

(j) Explain with example the role of yogyatā and saṇnidhi as causes of Śabdabodha.   
শাbেবােধর কারণ িহেসেব েযাগ°তা ও সিnিধর ɛিমকা উদাহরণসহ ব°াখ°া কেরা। 

  
2.  (a) State the definition of Smṛti as mentioned in ‘Tarkasaṁgraha’.  

‘তকর্সংgহ’ অনুসাের sৃিতর লkণ উেlখ কেরা। 
4

(b) Elucidate the definition of Smṛti following ‘Dīpīkā’ Ṭīkā. 
দীিপকা টীকা অনুসরণ কের sৃিতর লkণ ব°াখ°া কেরা। 

8

(c) Why Yathārtha Smṛti cannot be considered as pramā? 
যথাথর্ sৃিতেক pমা বেল sীকার করা যায় না েকন ? 

3

  
3.  (a) State the definition of Kāraṇa as mentioned in Tarkasaṁgraha. 

তকর্সংgেহ  উিlিখত কারেণর লkণিট উেlখ কেরা। 
3

(b) Explain with example the three kinds of Kāraṇa following Aṇṇaṁbhaṭṭa. 
অĒংভĄেক অনুসরণ কের িতনpকার কারণ উদাহরণসহ ব°াখ°া কেরা। 

9

(c) Why is the colour of the threads are not regarded as a cause of the effect cloth? 
‘তntrপ’ ও ‘তntt’ পটকােযর্র কারণ নয় েকন ? 

3

  
4.  (a) Analyse the definition of Apramā as given in ‘Tarkasaṁgraha’.  

তকর্সংgেহ pদt অpমার লkণিট িবেųষণ কেরা। 
6

(b) What objection is raised against this definition in ‘Dīpīkā’? 
দীিপকায় এই লkেণর িবrেd িক আপিt উtািপত হেয়েছ ? 

6

(c) How does Aṇṇaṁbhaṭṭa remove this objection? 
অĒংভĄ িকভােব আপিtিট দূর কেরেছন ? 

3

  
5.  (a) What is the meaning of the word Vikalpa? 

‘িবকl’ শbিটর অথর্ িক ? 
2

(b) Distinguish between Nirvikalpaka and Savikalpaka perception with example. 
উদাহরণসহ িনিবর্কlক ও সিবকlক pত°েkর মেধ° পাথর্ক° কেরা। 

8
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(c) State the ground for admitting Nirvikalpaka perception after ‘Dīpīkā’. 
িনিবর্কlক pত°k sীকাের যুিk দীিপকা অবলmেন েলেখা।  

3

(d) Can Nirvikalpaka perception be regarded as pramā? 
িনিবর্কlক pত°kেক pমা বলা যায় িক ? 

2

  

6.  (a) What is yogyānupalabdhi? 

েযাগ°ানুপলিb কােক বেল ? 

5

(b) Can yogyānupalabdhi be regarded as a separate pramāṇa over and above the four 
pramāṇas admitted by Naiyāyikas — State after Aṇṇaṁbhaṭṭa.  

েযাগ°ানুপলিbেক িক ন°ায়sীkত চারিট pমােণর অিতিরk sতnt pমাণrেপ sীকার করা উিচত —  
অĒংভĄেক অনুসরণ কের েলেখা। 

10

  
7.  (a) What is lakṣaṇā? 

লkণা কােক বেল ? 
4

(b) Give an exposition of the three kinds of lakṣaṇā after Aṇṇaṁbhaṭṭa. 
অĒংভĄেক অনুসরণ কের িতন pকার লkণার পিরচয় দাও। 

8

(c) In this context, explain after Aṇṇaṁbhaṭṭa when is the multiple signifying power 
(nānāśakti) of a word taken? 
এই pসেñ কখন একিট পেদর নানা শিk কlনা করা হয় তা অĒংভĄেক অনুসরণ কের ব°াখ°া কেরা। 

3

  
8.  (a) State and explain the definition of Vyāpti as given in ‘Tarkasaṁgraha’. 

তকর্সংgেহ pদt ব°ািpর লkণ ব°াখ°া কেরা। 
3

(b) How is it modified in Dīpīkā and why? 
দীিপকােত লkণিট িকভােব পিরমািজর্ত করা হেয়েছ ও েকন ? 

3

(c) How can Vyāpti be established? Discuss after Aṇṇaṁbhaṭṭa. 
অĒংভĄেক অনুসরণ কের ব°ািpgহ িকভােব সmব, উেlখ কেরা। 

9

  
9.   Write short notes on any two of the following: 

িনmিলিখত েয-েকােনা dিটর  উপর সংিkp টীকা েলেখাঃ 

(a) Karaṇa / করণ    (b) Anyathāsiddhi /  অন°থািসিd   

(c) Laukika Sannikarṣa / েলৗিকক সিnকষর্   (d) Pakṣatā / পkতা। 

7 2
1 +7 2

1

  
10.(a) What is lakṣaṇā? 

লkণা কােক বেল ? 

2

(b) Explain different types of lakṣaṇā with example. 

িবিভn pকার লkণা উদাহরণসহ ব°াখ°া কেরা। 

7
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(c) Indentify the types of lakṣaṇā in each of the following sentences. 

(i) “Mañchā Krasanti” / মĀা েkাশািn  
(ii) “Tat Tvam Asi” / তৎ tম অিস   

(iii) “Chatrinoḥ gacchanti” / ছিtেনাঃ গcিn 

6

  
11. Point out the Pakṣa, Sādhya and Hetu in each of the following cases and explain 

why the hetu is defective. (any three) 

িনmিলিখত অনিুমিতgিলর পk, সাধ°, েহt উেlখ কেরা ও েহtিট েকন dŶ বেলা। (েয-েকােনা িতনিট)  
(i) Fire is not hot because it is substance. 

 বিh অনুŹ, েযেহt বিh dব°।  

(ii) The golden mountain has fire because it has smoke. 

 েসানার পাহাড়িট বিhমান েযেহt েসিট ধূমবান  ্। 

(iii) The cow has horns because it is an animal. 

 গrর িশং আেছ কারণ এিট একিট pাণী। 

(iv) Abhava is non-eternal because it possesses Abhavaness. 

 অভাব অিনত° েযেহt এর অভাবt আেছ। 

(v) Sound is non-eternal, because it is namable, e.g. red. 

 শb অিনত°, েযেহt তা অিভেধয়, েযমন রিkম বণর্। 

5×3 = 15

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  

  
 

——×—— 
 


